%3 164

PENELE LREEXRXR

WHRFER

WRPRRE ST L

FR2747H48 (£

)

ERIET T 26 3L 5 5fL 6L 53 8fL
100m  [EaKR ®EQ) 16.12[ %4 BMQ) 16.21[ &l # Q) 16.64|®  BX(Q 16.70[ BHO) 17.07)%N BHQ) 17.43[F# REQ) 17,5551 S (3) 17.68
3 B +0.9 |JtEEESST 2Y—REA)L —ERELRR—VDER XEELSST Lo E tFEELESST Mm7ITXAC INETRAC
3 10om  |ER E—EQ 34T 71|46 FEA ) 4:05.79[ %2 REWO) 4:06. 49|28 E(Q) 4:12.50(ER EEO) 4:45.69
“ GaiE ] IY—REAN BELIELESST TY—REAI s
T ciEy |PE TEO me3(+0. 1) [HL W@ 2m55 (0. 0)
- KERELEY ST B DIMAC
10om  |FR AR 3:19. 00| IR 1&4 (4) 3:19.63[i®0 =@ @) 3:35.23[FH 1BARR(4) 3:41.39[aTE EEKX (@) 3:47.70[/hEIL #E 4) 3:51.54[FEE  R® 353 11[IRA KE @ 3:54.01
AEZa2=7 GR|—EmE L2 K~y R GR[—=RELY ST BEtBELsST BN F—LBWR—A X — BB L R R— Y D ER BERAELY ST
4 00m |28 ®BE®Q 14.55|8R & BEA @) 15.21[#@ %@ 15.50[th e B&H @) 15.68[ Rk ®@4) 15.90[ ik @) 16.40[Bll % @) 16.41[#2I &3 @) 16.57
F | R:+0.9 |XEYaz=7 GR[FHEBEL2=7 BIREE N ER N AC BElELYST F—LBWR—A X EtELsST ELNELYST
[ ; 3m62 (+0.9) [ #H—AR (@) m94(-0. 1) [=# B3 (@) 2m91 (-1.5)
BERRELS ST XEELS ST
100m 14.38|HE BKAG) 14.49[4kE kA (5) 15.13|B®  &O) 15.51[i8:8  #AK (5) 15.53[@l HE (5) 15.54| 43 A ©6) 5. 7[R FHEEG) 15.76
B 0.4 |EBbEANER F—LEILR—/ X m7IIRAC N A C INERJIAC KEEELSST GONSPORTS _ AC — BB L R R— Y DER
5 10om |EA @G 3:22.51|ME  #&6) 3:31.04[ &I @B (5) 3:38. 03[R R&¥E (5) 3:42.08[4L# 18 (5) 3:43.42|BiE Kt (5) 3:48.16|EE FAKER(5) 3:49.88[chiR & (5) 3:53.84
L3 —EAC KEPa2=7 tFERELES ST —EBELIST M7ILITRACYa=7F XEREES ST wEES ST RlELEY ST
5 sEy |8 BXO 3m91 (+0.7) [z BEG) 3m8l (+0.6)[—# B (5) 3m70(+0.3) [f® EEE (5) 3m67(+0.9) [£E BBI=(5) 3m63 (-0.5) B XK@ (5) m51(-0.7) [xxE  EG) 3m35(+0.7) [BR A (5) 3m31 (+1.0)
E G E D PRHBYLZTF M7INTRAC FLEWAR—1 X MR JAC XEELESST 7T RER BAEPRELY ST
00m [HE E#&G6) 13.48[5%% L (6) 14.24[ILE  EX(6) 142711 B£6) 14.31|&%& #N6) 14. 54| A k% 2L (6) 14.55[#@ 3 (6) 14.56|@@ R A (6) 15.10
B 401 |chigss KEELESST — =BT L A R— Y DER mFILTRAC N AC BLIEESST F—LEILR—4 X INERAC
6 1000m  |[KE HEKG®) 3:13.34[chih EX(6) 3:17.03[ 7479t BE(6) 3:21.84[Ril EE(6) 3:22. 20| KR i (6) 3:24.30[tes 3L (6) 3:30. 63Kk #E (6) 3:31.52|E@/ #% (6) 3:32.84
L3 —EAC KERELY ST IY—REAN EENEEYST #mys7 —EAC FEELY ST M7 LT R
sy |UE BAG 4m26 (0.0) [/hit T (6) 4m26 (+0.4) 8RB &K (6) 4m01(0.0) |3 B3R (6) 3m74(+0.4) [RiB 3t (6) 3m73(+0.2) [&8 &KX (6) 3m68 (+1.5) &Kk EE (6) 3m20 (+0. 9) & A (6) 3mi1(+0.8)
Gk m7IIFRAC PHBOL=TF N AC EtlELsS5T m7ILIRAC IY—REAN BELNELYST
80nH  [=# S (6) 14.56[FIL A& (6) 15.40[ &2 1% (6) 16.49|EH it 6) 16.63[:2% 1/ 6) 17.67[8a% & G5) 20.99
B+ |ehigss BLNELESST BELIELESST BEtEEIST N AC B7ILTRACSa=TF
F—LEFN 54. 12|t 5 55. 40| KEELY 5T 58 17[@7ILTRAC 58. 73N A C 59. 70[/NEERAC 59. 70[—EETR L2 K— Y LER 1:00. 41
b 5 (6) Wi HA 6 B #E6) &E &A®G) EEF RO KT REHE(6) KR BEEG)
3 4x100mR |shi®  SHAER (6) = HHE(6) kEF 2h(6) NE FRE(6) X 2346 EHE A6 Hix EHO)
& A Fh (6) WT %K (6) —/# B 2 &K (6) B BIRO) Fitr RGO AR 5 ©6)
FE KIE6) HE [E&6) Pl EX(6) Mt EE(6) BE BN 6) N Ol WA BEA (6)
say |EF BEO nig[ER E (6 Tm06
LaLE- FRBI2=TF
Kz |TE BTG 5m12| &R & (6) 43mi5[ L8 BAK(6) 40m71 (%0 H%& (6) 36m32[HE R&(5) 28m45[ /7R EE (5) 22m94
HBIELY ST 8 N AC N AC BERAELYST BELY ST
100m [EA ERQ) 16.53[4:2 AN (3) 17.21[1E HEQ) 17.29[#01L &£ 3) 17.53[E2 mR@) 1.70[MVER Q) 17.74] Rl 575 (2) 1817 A%k BE®Q) 18.34
3 | B:+0.9 |dhig INERAC m7ILTRAC hFEELES ST XERELEY ST M7ILTRAC it g EtELsST
3 som | EA BEQ 3:03. 48| xR E®) 3:10.48|=# EPEQ) 3:14.97| &M BEQ) 3:28.53| Rk Ak Q) 3:29.02[ILF #FQ) 3:30.77[#k #E(Q) 3:38.30[/NER RRE () 3:40.86
% EaLE- w57 KEELS ST —EEELRR—VDER IZV—REAL 2Y—REAL Lo E —ERELRR—YDER
T sy PR _FHEO 2m87(-0.1) [chiE #ZF (@) m83(-1.8) [HIL  E®M) 2m34 (+0. 4)
. WH S x /8=X GakaE LY ST
100m  |FHE BEA@) 15.29[l 271 (4) 16.00[#E &5 (4) 16. 18| & 75 #83k (4) 16.67| K% mE®@ 16.84|HE & (@) 16.92[/h#k  EH(4) 16.97|hiE B3 @) 17.35
B:-0.1 [N A C INEETRAC ELNELYST TYPE-R N AC N AC N AC BERAELY ST
4 son  |BD @EBH®@ 3:07.56[7%A #HF@ 3:08.07|&%H L\AIE®@) 3:10.59[ &N BEW@) 311,73 &< 5@ 3:12.73|M RE @) 3:13.84|4i8 REF @) 3:26.648RE WA (4) 3:28.37
L3 —=EAC XEELS ST XAAC A AAC b i BLIELESST —=EAC —EAC
sy |PB BEXO® 3m26(-0.7) [B71 #YUdk @) 3mi1(+0.6) [A& Ea @) 2m94 (-0.5) [#EO XE 4) 2m53 (-1..0)
N A C BERRELS ST N A C N A C
00m [## BEKG) 15.03[fE <505 15.05[ 14t #AE (5) 15.44[3# L NE5) 15.49[85K 28 (5) 15. 79| B #&ME (5) 15.79[ vk 24 5) 15. 87|l 2K (5) 15.89
B:+0.5 |WdsT KEELESST HBINELS ST GONSPORTS _ AC PRBC1I=F FHBC1ZT KEELESST PHBSL=TF
5 som  |BR XEO 2:44. 02| &Rk ¥HZE (5) 2:44.05|HBAH EE () 2:48.81lu@ vAY (5) 2:54.37[ILF  #& 6) 2:56.21[tA #£EG5) 3:01.50(%#& E7(5) 3:04.76|FR £X(6) 3:07.59
£ KEEELESST BERRELS ST —ERELRR—YDER KAAC P BEERE 2Y—REAL KAAC BT LT RER
% sy |AF EMOG 3m21 (+0.2) [=&  mn3kk (5) 3mi1(0.0)
z GONSPORTS _ AC WEH S v v 8—X
100m  [#E D<HE6) 14.03[AE FIT3E (6) 15.02[ LB WL\ (6) 15.06] 43  #7n (6) 15 11IuF  EE6) 15.19[FK #5186 15.24[&K %% 6) 15. 41| % 715 36 (6) 15.64
B :-0.2 [GONSPORTS AC B7ILTRAC B7ILTRAC /NEERAC e BEPRELS ST INETRAC TYPE-R
6 som  |BR BEE® 2:35.54| &% FAI6) 2:35.67|F@ HBZE(6) 2:51.35| Tk JA7E (6) 2:54.69[chi2 EZ(6) 2:56.59[ LA 1B (6) 2:56.72[d1%  BE(6) 3:00.85[RA HE (6) 3:03.94
& GONSPORTS _AC XEELEYI ST BM7INTRACYa=T tFEELESST wEES ST 7T RER —ERELRR—YDER BM7ZNTRACY2=T
sy PR _FLRE 1ma1 (+0.8) [=F &HHE(6) 404 (+1.2) [0 BBZ6) 3m82(0.0) [{T& #07E (6) 3n78(0.0) [RE 5 6) 3m77(+0.6) [IkER B (6) 3m75(+0. 6) [&H (6 3m68 (+0.9) [@ =i (6) 3m37 (+0. 5)
i WH Y r v/8—=X N AC XEELS ST M7ILTRAC e WHSr /=X BtlELESIST P BEERE
8onH  |WE R (6) 15.48[3R&E MY 4 (6) 15. 58| Bmk  %£& (6) 16.00[A% EF (6) 16.32[/\l1iB &< (6) 16. 48|88 A K3k (6) 17.34[8&4T  F58(6) 17.85
A : +0.9 |GONSPORTS AC N AC MT7ILTRAC M7ILTRAC kit A BlELYST
GONSPORTS  AC 57.85|m7ILTAAC 57. 94| INERAC 58. 56| ch#{ % 58 92| XEELEY ST 1:00.24[N A ¢ 1:00.93[@ 7 )L 7 R Kl 1:02. 49[TYPE-R 1:03.88
HE EBRE® gk £H®O) &R ®Th(6) mE (6) #O Bx6) HwE EHREO) il R (6) Ko k@)
3 4x100mR |#E D <H(6) IR FfE(6) SiE e #m (6) frE E<5(0) =€ FX0) o bhmE©G) X HE®)
g HE REH®6) B EF(6) HA FETE®O) AH (6) H# TG KiE #E©6) INETR 15 (6) RE 200
MmE_fRa®) TE L6 FK HEEG) WF 6) = O] BE_AYA®G) R EXOG) i .3 A0))
amy |HEN WEE m21|#m 87 6) BHEEEEAG) m09[KIE 452 (6) 1m09
N RAC Lo E e N AC
Kz |RA BFEE) 38m0[#E  REH (6) 36m86[XER FHAE(6) R EEREEIC 10m75
IgELEs ST GONSPORTS _AC tEELES ST BRERRELY ST
LBl GR:ARIER




	15-2-1 決勝一覧

